DECORATIVE ACCESSORIES AND ACCENT FURNITURE

MANUFACTLIRERS OF WALL DECOR, LIGHTIMG,

%

LITTERMOST
ASSEMBLY INSTRUCTION ITEM: 23440
PARTS LIST

NO DSCRIPTION SKETCH QTY |NO SKETCH DSCRIPTION QTY
A | FLAT WASHER 5/16”"X 3/4” 9PCS

5 | SPRING WASHER 5/16° ® opcs | | |COUNTER STOOL BAcK /% 1PC
¢ | BoLTS DIA 5/16°3” @mIID | spcs

D | BOLTS DIA 5/16”X2” D) APCS 2 CUSHION @ 1PC
E | BOLTS DIA 5/16”X1-3/4” (©) 1PC

F | ALLEN WRENCH 5/16” — | wc | 3| LeftStretcher & 2PCS

STEP 1 STEP 2

PO BOX 558/3325 GRASSY HILL RD.ROCKY MOUNT ,VIRGINIA 24151 WWW.UTTERMOST.COM
page 1 of 1




